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=) 2 sl REIRAL ERER #1E
1 RPN E‘S PN G ik
2 5 I A E‘S PN G ik
3 SR % PN G ik
4 TEE £‘8 PN G ik
5 PR E‘S FHLN ik
6 EIVESS E‘S FHLN ik
7 W E‘S FHLN ik
8 FRER N E‘S FHLN ik
9 [N = E‘S FHLN ik
10 BB E‘S FHLN ik
11 HEZ % FEN R H%
12 LE7LN S FEN R H%
13 B A S FEN R H%
14 FuH £‘8 FHLN G ik
15 5K R S FEN R H%
16 AR S FEN R H%
17 e S FEN R H%
18 Bt S FEN R H%
19 B S FEN R H%
20 JEEAN: E‘S FEN R H%
21 XI55 S FEN R H%
22 TR S Eiaes WA H%
23 VLA % FEN R H%
24 2 S Ak NI H%
25 o E‘S Ak NI H%
26 SCN S Ak NI H%
27 2%t S Ak NI Hi%
28 R [ 3 S Ak NI Hi%
29 FROR S Ak NI Hi%
30 e % Ak NI Hi%
31 FRIEH % e PR % ik
32 Mgy 2 1] % e PR % ik
33 e E‘S e PR % ik
34 JE 1 £‘8 e PR % ik
35 LU % e PR % ik




P 2 35 REIRAL ERYE #E
36 mwata E‘S 15 PR = T ik
37 ek 5 15 PR = T ik
38 i3 B E‘S 15 PR = T ik
39 XU % I A 1 i a%
40 EPS £/8 15 PR = T ik
41 JE ST E‘S 15 PR = T ik
42 BB 5 15 PR = T ik
43 FIEL 5 15 PR = T ik
44 KR 5 15 PR = T ik
45 ZEM £/8 15 PR = T ik
46 X E‘S 15 PR = T ik
47 RE £/8 e PR % ik
48 XI| 3 E‘S 15 PR = T ik
49 T H O E‘S 15 PR = T ik
50 ZL[pea E‘S 15 PR = T ik
51 2T 5 REEFHARN G ik
52 S E‘S REEFHARN G ik
53 PR ZE 5 REEFHARN G ik
54 k] £/8 REEFHARN G ik
55 RN % pe ks % NI a%
56 FANITEES E‘S CEIERSE TETA ik
57 i /NS E‘S CEIERSE TETA ik
58 Wit £/8 ITBUE BN 5 ik
59 AR E‘S ITBUE BN 5 ik
60 Joi A o ITBUE BN 5 ik
61 =14k 5% 5 ITBUE BN 5 ik
62 Ziz A E‘S ITBUE BN 5 ik
63 7R3tk E‘S ITBUE BN 5 ik
64 h 4 % ITBUS B BN 5 a%
65 FEME £/8 ITBUE B BN R ik
66 G /8 ITBUE B BN R ik
67 XIZE B % ITBUS B BN 5 a%
68 BRI /8 ITBUE B BN R ik
69 B 25 5 ITBUE B BN R ik
70 L 4= 5 ITBUE B BN R ik
71 HIES E‘S ITBUS B E BN 5 ik
72 5K ST % ITBUS B BN 5 a%
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